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Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.

AIC ;I8 U UF WIS (60) M BT ® W o (03) WU
‘@, @ T H fomfoa g1 Rl @ g
grel # foy v fovga e & ogER & v @
S T B

Section—-A / Gvs—h

(Long Answer Type Questions) / (€T IR T%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.

e @ue ‘@ H AR (04) <H I weE A W E
TG Y @ v U (15) @ fwiRa g
e @ g9 | dadt a (02) YT b SR oA
gl
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1. What do you understand by Demography ? Write an
essay on the nature of demography and its relationship
with other disciplines ?

Sifde] W Y T AT § P Sifbdl Bl Tl g
TP 3N IR ¥ G R UH e forRRav |

2. Write an essay on the family planning and women
empowerment programmes in India.

IR # URIR AT BRihH T Afgel HeaRihRoT
W T e ol |

3. What is Migration ? Give the detailed explanation of
the factors affecting Migration.

YINE R BT § 7 YA B TMIghR BRBI Bl
W GRA Y 7] AT B |

4. What do you understand by quality of life of a
population ? Give the various indices used to measure
the quality of life. Give the factors affecting the quality
of life of a population.

STRT 1 ORI W AT FT FHI § ° ST Dl
ORI AU & GADIh G1gd | TGN Bl JUrE B
TIaHR! BRGT S IR ¥ a8 |

Section-B / YUle—Y¥

(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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dlc . @ue @ H IS (08) @Y SR W fd W 2
TAe YH @ fou dfa (05) o fiRa E)
el o1 g8 ¥ dadt IR (04) Y B IR <A
gl

1. Write a note on Malthus theory and explain it with

reference to India.

A & gl I IRAING HRd gY ARA & Fa4
Y 3HG! AR BT |

2. What are the main reasons for population explosion in
developing countries ?

farereiier <ol o S fdwhie & a1 SRy § ?
3. Write notes on the following :

(a) Stationary population

(b) Stable population

ferfoRed w fewforar forfy -

(@) FeEe S

(@) Rer SwE

4. Write a note on Human Resources and its role in
economics development of a country.

A WEREl ¥ Y T FHI § ° SMYd faa |
Aa FEEH B AdT )R Ue fewll S |
5. Define the following :
(@) Gross Reproduction Rate (GRR)
(b) Net Reproduction Rate (NRR)
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frfoRad &1 gRwIvT HIfT -
(&) et JTocTe X
() gg Jroce

6. Write a note on characteristics of Urban Life.

TRIG SiaT @I faevant wR faar e ST |

7. Discuss theory of Demographic Transition.

SHIfhdIT THAT & g @ I8 § fadR I 9d18Y |

8. Throw light on the various theories related with
Internal Migratuen.

RS FaT W TR JaaT & gl TR I
Sifery |

Section-C / YUs—TT

(Objective Type Questions) / (A& )
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.

Al @us T W g9 (10) TS U A W g | I_d
T B forw Ue (01) 3o FEiRd 1 39 wWve @
Y oo afard € |

Write True/False against the following :

fy=forRad & e 9 /39 forlRau

1. 2011 is the 13th National Census. (True/False)
2011 @I SIRIVMT TREdl TG TV 3 |
GRVARR)
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2. According to Malthus, “Population when unchecked

decreases in geometric ratio”. (True/False)
A & AR, “HFAFET S S &) 4
gedl 27 | (5 / )
3. Migrational theory of population was given by Prof.
John Graunt. (True/False)
ST &1 YA Riga W S aeee | e o
(W / 31c)
4. Indian Census Day is celebrated on 19th February.
(True/False)
ARAR STV feast 199 TRae) B A-RIT Sl & |
(W / 31c)
5. Family Planning Programme was introduced in 1951.
(True/False)
IRAR T SRIGH B RO a9 1951 H g8 |
GRVAES)

Choose the correct alternative.

el fade gy |

6. Population explosion may be attributed to :
(a) High Birth rate

(b) Low Death rate

(c) Difference between High birth rate and low death
rate

(d) High Reproduction rate
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S faenre fg Rafd & @rad avdr ¢ ?
(@) S=@ oW X
@ 37w

(@) Tea O X T 7+ Heg &) Bl ]
(€) o 9o

7. InIndia Census is held every ................ years.
@ 5
(b) 10
(c) 15
(@ 1
HIRET # SO B af ¥ B 3
@) 5
@ 10
(@) 15
@)

8. When did the National Population Policy come into
effect ?

(a) 2001
(b) 2002
(c) 2000
(d) 1999
IR SR Aifd fog af § g918 78 °?
(31) 2001
(@) 2002
(|) 2000

() 1999
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9. Sex ratio of India according to the 2011 census is :

(@) 940 females per thousand males

(b) 960 females per thousand males

(c) 923 females per thousand males

(d) 913 females per thousand males

2011 B SO & JFTAR ARG BT [T U 2 :
() o940 RERIT U BOIR o

(@) 960 REHTT Ul BOIR Yoy

(@) 923 Rl Ul BOIR oy

(€) 913 Rl Ul BOIR Yoy

10. For a population to be stationary :
(@ No of births < No of deaths
(b) No of births > No of deaths
(c) No of births = No of deaths
(d) None of the above

(@) O @ W < GG Dl Gl
@ @ > Y Dbl Gl
(@) o @ G = GG bl G

(@ s ¥ oK T
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